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QUESTION 1

How is a route-based VPN different from a policy-based VPN? 

A. A route-based VPN requires manual keys for encryption and authentication. 

B. A route-based VPN requires static route entries for the remote peer. 

C. A route-based VPN is bound to a tunnel interface. 

D. A route-based VPN is bound to a loopback interface. 

Correct Answer: C 

 

QUESTION 2

Referring to the exhibit, which three statements are true? (Choose three.) 

NS5200(M)-> get nsrp nsrp version: 2.0 cluster info: cluster iD. 1, namE. 5200 local unit iD. 8000208 active units
discovereD. index: 0, unit iD. 8014208, ctrl maC. 0010db000085, data maC. 0010db000086 index: 1, unit iD. 8337344,
ctrl maC. 0010db0000c5, data maC. 0010db0000c6 total number of units: 2 VSD group info: init hold timE. 5 heartbeat
lost thresholD. 3 heartbeat interval: 200(ms) master always exist: enabled group priority preempt holddown inelig master
PB other members 0 50 yes 45 no myself 8330044 total number of vsd groups: 1 Total iteration=
,time=878546093,max=4900,min=170,average=18 RTO mirror info: run time object synC. enabled ping session synC.
enabled coldstart sync done nsrp data packet forwarding is enabled nsrp link info: control channel: ha1 (ifnum: 5) maC.
0010db000085 statE. up data channel: ha2 (ifnum: 6) maC. 0010db000086 statE. up ha secondary path link not
available NSRP encryption: disabled NSRP authentication: disabled device based nsrp monitoring thresholD. 255,
weighted sum: 0, not failed device based nsrp monitor interfacE. ethernet2/1(weight 255, UP) ethernet2/3(weight 255,
UP) ethernet2/4(weight 255, UP) ethernet2/5(weight 255, UP) ethernet2/2 (weight 255, UP) device based nsrp monitor
zonE. device based nsrp track ip: (weight: 255, disabled) number of gratuitous arps: 4 (default) config synC. enabled
track ip: disabled 

A. This cluster is configured as an active/active cluster. 

B. RTO sync is enabled. 

C. No secondary path is configured. 

D. master-always-exists is enabled. 

E. Only one interface is used for both the control and data links. 

Correct Answer: BCD 

 

QUESTION 3

When using NSRP, which command will insure uninterrupted communications for VPNs using certificates for
authentication? 

A. set hostname 
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B. set NSRP clustername 

C. set NSRP cluster name 

D. set NSRP cluster hostname 

Correct Answer: C 

 

QUESTION 4

A ScreenOS device evaluates five primary elements when performing a security policy check on a new session. Which
five elements are evaluated? 

A. source IP address, destination IP address, source route, source port, and destination port 

B. source IP address, destination IP address, source port, destination port, and protocol 

C. source IP address, destination IP address, source port, destination port, and payload 

D. destination IP address, source port, destination port, protocol, and payload 

Correct Answer: B 

 

QUESTION 5

What is the function of NAT? 

A. It performs Layer 3 routing. 

B. It evaluates and redirects matching traffic into secure tunnels. 

C. It provides translation between IP addresses. 

D. It performs Layer 2 switching. 

Correct Answer: C 
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